A H B U 2 #H B =B
IEZ04H ESRILEEE WEMAEKERR(E3E) TE
EHEEE XK KIER
AA # 7 H £ 5% 98 21H
N EAT&EH ATE 20228E
1 AN (E i)
IE%0| fwalLr-zomsxE | A M = 8 (5 K &) e 2 - H0 5 F 52 fli EHEOBHS EHL 24
& B % # Z1H oM A= (Biih) X (& % (BrAa)
LEZRLE B
gﬁi‘ﬁ@ UJE SE— ER 40,380,000
= 7
REDGE B 53 #0.180.000 — R TETHB D
FEFEIE BASH 40,250,000 5. BREEEEHLEIA
REDME FE TX oy BETROEEZEESE TS,
BAHFE—YT RRRA R
REIFHE S 3HE .
HRsH 17F
$591105 41,720,000 REmGE B =8 44,198,000
[EEELDEE]

1

3

[ FEMEIL. HERIREOREETRE
2 TAHELE T AELRRBEL -2V FELERECHERIRZTOLEH) TRRE
L T ALELRBL-Z2UFELEDI00N 1102 LY T2 ECEHEBHAANDSEE) TS




59110

2 BHRE (B M)
ZHOHMFAHAOD - # - L
i = lE B2 2 # = 7 » = & &
2 #H B E 3l ﬁaﬁxg%ﬁ\ﬁg %@%@ﬁE% /= mI%%GD%Pﬁ T k=4 % i3 E:3 = B"H 2 B %= B @
#£ A Bl A H
B2/KE I L=414.8m DIP-NSE ¢ 150 L=414.8m
ZRATI N=3E HEEFTI N=1E THKS
Iz T N=185Fr
FH5EI[25H 44,198,000|#75%9A258 [$H643A298 qu;ﬂ?ﬁ RER/N
T B #®# 0 I M
T E 2 H#H A EE & 8 — IETE0HMH T = % i3 = I 3 B =2
& F|5% o4
£ B B|# B H
BEKEI #9240 E8ENST (EFEE)DIP- [ETHENHE. BBKEDHMARFRELIL
NSE ¢ 150 L=412.41m ICKYZERF1EERHLS.
~2.200,000 THEEMEEELE ZJLEHIVP ¢ 150 L= FOfh, BEICKAIBEDEFLHHE. 2,200,000
SM6E3I[ 148 FELHL fi-"{_lun% e —— BT 5,
(41998000) HRHT N=1&
THK I T N=18FR
#A&t 10+ E E #®# 0o I #
£ E 2 B |bkEIE B }.’“Eﬁﬁﬁ == E,Z:ni%a)i%ﬁfr T E: 4 = % = % B B 2
RERGE R 55 £ B gl 8 B
O
E E % 0O I H
r E 2 H A T E & 8 — IEE0NDHM T k=4 % i3 = E = B =2
& F|5% |73
£ A B|Z= B B
O
[RR&ELDTE]

TEEEET. HORVBEOBRBAERHL. ( NICFERROZNEELHT D,



